

Page 1 of 1

Florida Department of Transportation



Letting:

Vendor Ranking

February 15, 2023 11:00 AM **Call Order**: 003 **Contract**: E20Q1

District: District 2 Counties: LAFAYETTE, TAYLOR Fed Aid No: N/A

Contract Time: 90 CALENDAR DAYS Project(s): 43890627201 (*)

Contract Desc: SIDEWALK REPAIR

02230215

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	BURNETT CIVIL CONTRACTING OF FL	Responsive	Winning bid	\$124,938.52	100.00%
2	JT RUBY CONTRACTING SERVICE INC	Responsive	Non-Winning Bid	\$141,922.04	113.59%
3	LAMAR BROTHERS LLC	Responsive	Non-Winning Bid	\$194,814.12	155.93%
4	JRM CONSTRUCTION GROUP, INC.	Responsive	Non-Winning Bid	\$205,399.45	164.40%
5	LIVE OAK MANAGEMENT GROUP L.L.C.	Responsive	Non-Winning Bid	\$249,986.80	200.09%
6	ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC	Responsive	Non-Winning Bid	\$259,919.14	208.04%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.





Tabulation of Bids

Page 1 of 4

Letting:02230215February 15, 2023Call Order:003Contract:E20Q1District:District 2Counties:LAFAYETTE, TAYLORFed Aid No: N/A

Contract Time: 90 CALENDAR DAYS Project(s): 43890627201 (*)

Contract Descr: SIDEWALK REPAIR

This is a Business Development Initiative to supply all equipment, materials, labor,

Maintenance of Traffic (MOT), and incidentals to remove and replace site specific damaged concrete sidewalks, driveways,

and curb and gutters. BID EXPRESS MANDATORY.

BUSINESS DEVELOPMENT INITIATIVE -- Bidders must be a "Small Business" as defined by FDOT. Small business size

standards can be found at

https://www.fdot.gov/equalopportunity/bdi.shtm

For more information about bidding on BDI projects, please see the training guide located at https://www.fdot.gov/equalopportunity/bdi.shtm

Pregualification per Rule 14-22 is not required.

Bidders must complete and submit the Small Business Affidavit (Form No. 275-000-01) for approval prior to receipt of bid documents. The form may be accessed at: https://www.fdot.gov/equalopportunity/bdi.shtm

It is only necessary to submit the Small Business Affidavit (SBA) form once per year.

Send a completed and notarized affidavit as an attachment to: SmallBusiness@dot.state.fl.us

All Sublet work must be contracted to a small business or businesses as defined by the Department. The subcontractor must also submit a notarized Small Business Affidavit Form provided by the Department prior to the start of work.

Proposal Guaranty of \$500 is required for bids over \$150,000 and may be in the form of a Cashier's Check, the BDI Bid or Proposal Bond (Form No. 375-020-16), or the standard Bid or Proposal Bond form, Form No. 375-020-09).

A Contract Bond is not required for contracts \$250,000,00 and less.

Line No / Item ID Alternate Item Description	Quantity Units	(1) BURNI CONTRACT		(2) JT RUBY CO SERVIC		(3) LAMAR B	ROTHERS LLC	
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SECTION: 0001 (CONCRETE SIDEWALK REPAIR (SY								
0005 0520 1 10 CONCRETE CURB & GUTTER, TYPE	61.000 F LF	75.00000	4,575.00	70.00000	4,270.00	181.00000	11,041.00	



02/23/2023

Tabulation of Bids

Page 2 of 4

Lettin	ig: 0	2230215	February 15, 20	023 Ca l	l Order: 003		Contract:	E20Q1	
	e No / Item ID	Alterna	te Quantity Units	(1) BURNE CONTRACT		(2) JT RUBY CO SERVIC		(3) LAMAR B	ROTHERS LLC
() in	ndicates item is b	id as Lump Sum	•	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(CONCRETE S	IDEWALK REPAIR	R (SY				
0010	0522 1		1,046.120	63.00000	65,905.56	72.00000	75,320.64	91.00000	95,196.92
	RETE SIDEWA WAYS, 4" THIC		SY						
0015	0522 2		656.120	83.00000	54,457.96	95.00000	62,331.40	135.00000	88,576.20
	RETE SIDEWA WAYS, 6" THIC		SY						
0001 CONCRETE SIDEWALK Section Totals: REPAIR (SY)			\$124,938.52		\$141,922.04		\$194,814.12		
	Contract Grand Totals:				\$124,938.52		\$141,922.04	194,814.12	





Tabulation of Bids

Page 3 of 4

Letting:	02230215	February 15, 2	023 Cal	l Order: 003		Contract:	E20Q1	
Line No /		e Quantity Units	(4) JRM CONSTRUCTION GROUP, INC.		(5) LIVE OAK MANAGEMENT GROUP L.L.C.		(6) ROGAR MANAGEMENT & CONSULTING OF FLORIDA	
	item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	LC Ext Amount
SE	CTION: 0001	(CONCRETE S	IDEWALK REPAIR	R (SY				
	0 1 10 CURB & GUTTER, TYP	61.000 PEF LF	136.25000	8,311.25	65.00000	3,965.00	100.00000	6,100.00
0010 0522 CONCRETE DRIVEWAYS	SIDEWALK AND	1,046.120 SY	110.00000	115,073.20	185.00000	193,532.20	141.40000	147,921.37
0015 0522 CONCRETE DRIVEWAYS	SIDEWALK AND	656.120 SY	125.00000	82,015.00	80.00000	52,489.60	161.40000	105,897.77
0001 CON	NCRETE SIDEWALK S REPAIR (SY)	Section Totals:		\$205,399.45		\$249,986.80		\$259,919.14
	Contract G	rand Totals:		\$205,399.45		\$249,986.80		259,919.14



02/23/2023

Tabulation of Bids

Page 4 of 4

Letting: 02230215

February 15, 2023

Call Order: 003

Contract:

E20Q1

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.